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1. With which one of the followmg s BRIT
{Govemment of Indin) engaged?
i Railway Wagons
b. Information Technology
e [sotope Technology

d. Road Transport
Ans. ¢
2 Which of the following pairs are correctly
matched?
Institute Lowation

1. National Centre for Cell Science : Mysore
2 Contre for DNA Fingerprinting  and
Diagnostics: Hyderabad
3. National Brain Research Centre - Gurgaon
Select the correct answer psing the code gven
below
Codies:
a 1, 2and3
b. 1 and 2 only
e, 2and 3 only
d. 1 and 3 only
Ans, ¢
3 Where was the first desalination plant in India
to produce one lakh litres freshwater per da
based on low lemperature thermal desalinati
principle commissioned?
a. kavarath
b, Port Blair
¢. Mangalore
d. Valsad
Ans. u
4 How % the Umited N clary and
Financial Conference w agreements
IBR‘). GATT and IMF,

h

jch of the following is/are tncludsd m the

whtive Principles of State Policy?

shibition of tallic in human heings and

forced labour

2 Prolubition of consumption escept for
medicmal purposes ol intoxicating drinks
and of other drugs which are injurious o
health

Select the correct answer using the code given

below

Codes:

a only

b. 2only

¢. Boih 1 and 2
d. Neither 1 por 2
Ans. b
. Consider the followmg statements -
The Constitution of India provides that
I. the Legislative Assembly of
shall consist of not
members chosen by direct
territorial comstitucncics s
2. @ person shall not
chosen 1o fill a
.rlﬁ-lﬂ'rl-b]‘"_p 'ﬂ'f!
25 years of age

which one of the following Constitution
dment Acts, four linguages were added
1o the languages wnder the Eighth Schedule of
the Constitution of India, thereby ramsing their
number to 227
a. Constilution (Nigtieth Amendment) Act
b Constitution  { Ninety-first  Amenidment)
Act
c. Constitution (Nmety- second Amendment)
Act
d. Constitution  (Ninety-third  Amendment )
Act
Ans. ¢©
8. Which of the following are the public sector
undertakings of the Government of Tndia?
1. Balmer Lawne and Company Lud
2. Dredging Corporation of India
3. Educational Consultnts of India Lid.
Select the comedt answer using the code given
below
Code:
. 1and 2 only
h, 2and 3 umly
¢. 1 and 3onlv
d. 1.2and3
Ans. d
9. Which of the following are among the million-
plus cities in India on the basis of data of the
Census, 20017
1. Ludhiana
2. Kochi
3. Sural
4. Nagpur




Select the correct amswer usmg the code piven

below

Code:

e 1, 2and 3 only

b 2 3and 4 only

¢ | amd 4 only

d. LZ3and4d

Ans, d

1. Consider the followng statements:

L  Clean Development Mechamsm (CDM) n

respect of carbon credits is one of the

Kvolo Protocol Mechanisms.

2. Under the CDM, the projects handled
pertan only 1o the Annex-| countries, 14

Which of the stalements given shove sare

corect'!

w1 imly

b. 2only

¢. Bothland2

d. Neither | nor 2

Ans c

1L Where was the World Surmnil on Sustainable

Development (R -
a  Davos
b Neova Scotia
e Johannesburg
i. Shanghm
Ans. ©

1. Match Last-T with List-I1 and select the corr
answer using the code given below the Lists G.
[ast-1
{Person|
A K. T Singh
B Vikram Pandii
€. Roopa Farooki
D. Kishore Bivan
List-I1
(Arca)
L E.'rn]:_m V'S
x F1r.'unu wr

10) held? IS

18
13, Match List-l with List-1l and select the correct
answer using the code given below the Lists
List-1
{Organization ) 12

A Amnesty Intemational

B Commonwealth of Independent States
{CT5)

C. Danube Commession

I BEurgpean Space Agency

2013
Tast-T1
{Associated  Comvenlionr  Personr
Headguarters)
1. Viskuli
2. Paris
3. Peter Benenson
4. Belorade Convention
Code:
s A3 Bl C412
b. A4.B2 C3 DI
¢ A3 B2 C4 DI
d. A4.Bl,C3102
Ans. n
Amongsi the following §
the highest percentage
its total population (

Place'

mg prder of thew populations!?

il and USA

SA and Indonesia

¢ Canada and Malaysia

d. Russia and Nigeria

Ans b

Among the Indian languages, which one 1
spoken maximum m the world after Hinds?

u. Telupu

b, Tamil

¢, Bengali

d. Malayalam

Ans e

Who among the followmg dscovered heavy
water”

#. Hemnch Hertz

b. H C. Urey

¢ G Mendel

d. Joseph Priestley

Ans. b

Kim Dac-jung won the Nobel Prize for Peace.
He s from which ong of the following
conniries?

a. Vietnam

b. Cambodia

¢ South Korea

d. Japan

Ans. ¢

Ogaden region has been o source of conilict
between which commiries?

a. Moroceo and Algeria

b. Nigena and Cameroon

©  Angola and Zambia

d.  Ethiopia and Somalia
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Ans. a Apoplins
Near which one of the followmg cities are b, Cassimi
Pahtana Temples located? c. Spitzer
& Phavnagar d. TechSar
b, Mount Abu Ans. b
¢. Nasik 28, In which one of the followmng locations i the
d. Ujjain Intormational  Thermonuclear  Expenimental
Ans. Reactor (ITER) project to be huilt?
Which one of the following countries won the A Northern Spain
Euro Foothall Tourmament, 200 held m b. Southern France
W c. Eastem Crermany
i [aly d. Southern Ialy
b. France Ans b
c. Greece 29, What 1s the purpose of the ¥'s
d. TPorwugal Themis Mission, whic tly in the
Ans ¢ news?
In order of their distances from the Sun, which a  Tosmdy thep hife om Mars
of the followng plancts lie between Mars and b. To study the sate ;
Uranus? 2 - L‘I‘JWDI display ol high
a Earth and Jupiter i -
b. Jupiter and Satumn . lgghnga sgiice laboratory to study the
¢ Saturn and Earth sllar grpidiions
d.  Saturm and Neptune .
Ans. b 3, B the Biosphere Reserves i India,

ve been recognized on the World
ark by UNESCO Which one of the

wing is nol one of them?

Cristina Kirchner succeeded her husband 1o
become Prosudent of a Sowh American
couniry. Which is that country?

a  Chile a. Gl o Mannar
b, Argentina b, Kanchenjunga
¢. Colombia ¢. Nanda Devi
id. Venczucla d.  Sunderbans
Ans. b Ans. b
Who was the Viceroy of Indiw 3. What is Agent Crange?
Rowlatl Act was passed? #.  An ace spying group tramned by the Police
a.  Lord Irwn m London
b. Lord Reading b, A weed-killing chemical used by the US
&  Land Chelmsford @ Military in the Vietnam War
d. Lord Wavell c. A technigue used in the advanced railway
a\.ﬂi C ‘ Hfﬂ!r' jll'ui-'ﬁlll.'l'l:
In the year guake Jed to massive d. A special chemical used in making alloy
radioacti e in the largest nuclear wlecl
In which country did o Ans. b

3z Which one ol the following suppested ihe
reconstitution  of the Viceroy's Executive
Council in which all the portfolios including
that of War Members were to be held by the

Indian leaders?
u.  Simon Commission
al 15 the approximate percentage of persons h. Simla Conference
above 65 years of age in Indm's cumrenl ¢. Cripps Proposal
population? d. Cahinet Mission
a 14-15% Ans. o
b 11-12% 33 During the Indian Freedom Struggle. who of
c B0 the following raised an army called Free
d. 56% Indian Legion™
Ans. d 2, Lala Hardayal

Which one of the following is a spacesrafi? b. Rashbchan Bose
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¢, Subhas Chandea Bose

d. V. D Savarkar

Ans. ¢

The terim “Prisonet’s Dilemma™ 15 associated
with which one of the following?

a, A techmique in glass manulachurs 0.

b. A term used in shipping industry

¢ Asituation under the Game Theory

d.  MName of 3 supercomputer

Ans. ¢

During the time of which Mughal Emperor did
the English Fast India Company establish s
first factory m India?

a  Akbar

b, Jahangir

¢ Shahjahan

d. Awrangzeh

Ans. b

Who among the following rejected the title of

Knighthood and refused 1o aceepl a position 41.

the Council of the Seerelary of Stale for India?
a  Motilal Nebra

b M G. Ranade

¢ G K. Gokhale

d. B G. Tilak

Ans. ¢

Wiich of the following pans are comectly
matehed?

Imgation Projeet © State

L. Damanganga | Gujarat

2. Grna Maharashtra

3  Pamba : Kerala

Code:

a1 and Zonly
b. 2and 3 only
¢ |und 3 only
d. LI2md3 V'S

oWehg pairs m respect of
wn i India aare

a | only

b. 2umly

¢. Heth 1 and 2

d. Nemher 1 nor 2

Alis. @

Which ome of the following strais & nenest (o
the International Date Line!

Select the correct answer usmy @
below 43.

dul'13
a. Malacca Strai
b. Bering Strail
c.  Strant of Flonda
d.  Swat of Gibrallar
Ans. b
Which of the followmg pairs are correctly
matched?
Waterfalls ‘River
1. Kapildhara Falls - Godavan
2. Jog Falls : Sharavat
3. Swvasamiudram Falls | Cauvery
Seledt the correct anvwer using iven
helow:
Code .
a1 and 2 only
b, 2and. 3 only
c. 1and 3 only
d. 1.Z2and3
Ans. b ®
Which ollowing cihies i néarest in
the
#, Folom

C
pore

d
On which one of the lollowing nivers i the
Lehri Hydropower Comples: located?
a Alaknanda
b, Bhagirathi
c. Dhauliganga
d. Mandakini
Ans. b
Which of the following minerals are found m a
natural way m the State of Chhattisgarh?
1. Bauxite
2. Dalomile
3. lron ore
4. Tin
Select the comrect answer using the code given
helow
Code:
n, 1.2am 3 only
B ) and 3 only
c. 2and 4 onky
d. 1.2 Jand 4
Ans. d
Which of the following paus 18are conectly
matched?
TheoryLaw  Associated Scientist
1. Continental Drift: Edwin Hubble
2. Expansion of Universe : Alfred Wegener
3. Photelectric Effeet : Albert Einstein
Select the comeel answer using the code given
below
Code;
n.  2and 3 only




b. 3 only
. Z2uomly
d. 1only
Ans. b
45, What does Bandhayan theorem (Bandhayan
Sulva Sutra) relafe to?
i  Lengths of sides of a right-angled tnansle
b, Calenlation of the value of
¢ Logarithmic calculations
d. Normal distribution curve
Ans. n
46, Which of the following countries share
borders with Moldova?
L Ukrime
2 Romania
3, BRelarus
Seclect the correct answer usmg the code given
below
Code;
a  land 2 only
b. 2and 3 only
¢ land 3 only
d. L 2and3
Ans. a
47, India is 0 member of which of the following?
1. Asian Development Bank
2, Asia-Pacific Economic Copperation
3, Colombe Plan
4. Organization for Economic Cooperati
and Development (OECT))

Select the correct answer using the
below:
Code:
a | and 3 only
b. 2and 4 only
¢ L 2and 3 only

do L2 3end 4
Ans. n

8. Consider the
L :

¢ slaggmenis:

Both 1 amd 2
d. Neither 1 nor 2
Ans. ¢
49, Which one of the following is the largest
{areawise) Lok Sabha comstituency?
W Kangra
b. Ladakh
¢. Kachehh
d. Bhilwara
Ans. b

sl

Sof13
TFor Tndia, China, the UK and the UTSA,
which ome of the following s the corret
sequence of the median age of their
populations?
2. China < India < UK < TSA
b India < China < [J§A = UK
. Chma < India~ USA<TUK
d. India < China = UK <TISA
Ans. d
Mateh List=1 with List=11 and select th 4
answer usmg the code grven below 1
List-]
iFerson)
A, Sabyasachn Mukherjee
B. Anmuddia Ralial
C. Vikram Akula
I Yuosuf Hamed

List1

384,01 D2

e AL B4, C3D2

d. AL B2 C1.D4

Ans. b

Consider the following stalements:

L. Justice V. . Knshna lyer was the Chief
Justice of India.

2. Jusice V. R Krishna Iyer is considered as
one of the progenitors of public interest
litigation (PIL) m the Indian judicial
system.

Which of the statements grnven above 1s/are

comrect?

a1 onky

b. 2only

c. Both 1 and 2

d. Neither | nor 2

Ans. b

Ebraham Alkazi 1s an eminenl personality n

which one of the Tollowing arcas?

#. Hearl surgery

b, Civil aviation

c.  Theaire traming

d. Transporl engimeening

Ans, ©

Consider the following statements:

L. Chikmagalur is well-known fis sugar
production.

2. Mandya 15 well-known as o coffee
producing region

Which of the statements given above isare

eomrect?




o Tonly
b, 2 omly
c. Both1and2
d. Neilher 1 nor 2
Ans b
55. Bimbavati Devi s a well-known dancer of
which type of dance?
a. Nampun
b, Bharat Natyam
c. Kuchipud:
d. Odissi
Ans a
6. How i% Sarosh Zaiwalla well-known as?
w A leading theatre personality
b. A leading wildlife photographer
¢ A leading intemational legal expent
d. A leading mrthopaedic surgeon
Ay,
57,  Where are  Tapovan and  Vishnugarh
Hydroglectric Projeets located?
a. Madhya Pradesh
b, Uttar Pradesh
¢ Uttarakhand
d. Rajasthan
A 0
58, Match Tasi-1 with Lisi-T1 and seleet the correct
answer using the code grven helow the Lists
List-1
{ Author)
A, Bankimchandra
B, Dinabandhu Mitra
C. Premchand

{ Work)
1. Shatranj Ke Khilan
2. Debi Chaudhurani @

3, Nil-Darmpan
4, Chandrakant

g the following gave a systematic
ue of the moderate politics of the Indian
' I Congress in a scries of articles
itled Mew Lamps for Old?
u Awobindo Ghosh
b, RO Dutt
e Syed Ahmad Khan
d. Viraraghavachar
Al i
60.  Who among the followmg used the phrase
“Un-British” to criticize the English colonial
control of [ndia?
a  Anandmaolian Bose

6l

fis

67,

Golld
b. Badmuddm Tyabg
€. Dadabhai Naomoji
d. Pherozeshah Mchia
Ans. ¢
Among the followng, which one lays egps
and does not produce young ones directly?
a,  Lchidna
h. Kangaroo
t. Porcupine
d. Whale
Ans.
The release of which one of the nlo
ponds and wells helps i ing the
mosguitoes!
w. Crab
b. Dogfish

c. Gambusma fish o
d. Snail

Ans v
“ﬂtic!i 5

lgﬁ Constitution of India

ovisjons  for  the

d conlbrol of Scheduled Arcag
tes?

d. Ninth

Ans. b

Department of Border Management ® a

Department of which one of the following

LUnion Mimistries'

A Mimstry of Defence

h.  Ministry of Tlome Atfairs

c.  Ministry of Shipping, Road Transpont and
Highways

d. Mimstry of Environment and Forests

Asis b

For which one of the following reforms was a

Commssion sel up under the Chairmanship of

Veerappa Moily by the Government of India?

a. Police Reforms

b Tax Reforms

¢.  Reforms in Techmcal Education

d.  Administrative Reforms

Ans, d

Elizabeth Hawley = well-known for her

writings relating to which one of the

tallowing?

u. Thstorical monumenis in Tndia

b, Regional dances in India

¢, Himalayan expeditions

d. Wildlife in Indsa

Ans, ¢

In Indha, how many States share the coastlme?

a 7

b 8

gD




6o,

Th.

7.

d. L0

Ans, ©

Nobel Prize winning scienfist James D,
Watson is known for his work in which area’
a. Metallurgy

b. Meteorology

c.  Envimonmental prolection

d. Cienetics

Ans,. d

Match List-1 wath List-11 and stlect the correct
apswer using the code given below the Lists
List-1

(Board)

A, Coffee Board

B. Rubber Board

C. Teca Board

D. Tobaceo Board

List-11

{Headguariers)

1. Benpgaluru

2. Guntur

3. Kottavam

4, Kolkata

Code:

a. A2 B4 C3 DI

b, Al B3 (4.D2

c. A2 B3 C4.DI

d. Al B4, C3.D2

Ans, b

Which one among the following has

maximum number of Mational Parks"
#.  Andaman and Nicobar lslands
b. Arunachal Pradesh ‘

c.  Assam

d. Meghalava

Ans. a @

Among the following. C 14 nol an
ape

a. Chbbon 'S

b. Garilla

how mpny different ways can all of §
identical balls be placed in the cells shown
above such that each row contuns at least |
ball?

a. MM

b. #l

(U

d. 1Us

Ans, d

73

74,

76,

7.

8.

Tol'13
There are 6 different letters and 6
corregspondingly addressed envelopes. If the
letters are randomly put 1o the envelopes. what
15 the probabality that exactly 3 letters go mio
the comectly addressed envelopes”
a. dero
b. 1/6
e 12
d. 36

Ans, a

[LTT]

different ways can the
eells {cach cell o o

a: 15

bh. 1K 23
e 24

d.

An

How many different tnangles are there m the
figure shown above”

W 28

b 24

c. 20

d. 16

Ans a

Which of the followme pairs 1sfare comectly
matched !

. Francis Collins: Mapping human genome
2. Sergey Brn . Google Search Engine

3. hmmy Wales | Wikapedia

Select the correct answer using the code given
below:

Code:

a. |and 2 only

b. 2and 3 only

c. 3only

d. 1. 2and3

Ans. d

What does § & P 300 relate o

a. Supercomputer

h. A new techmque in e-busmess

e A new techmque i bndge building

d. Anindex of stocks of large compamies
Ans. d

Rayiv Gandlu Natenal Flving Institute 1s being
established m which State?

a. Kamataka

h. Maharashtra

c. Kemla




d. Origsa
Ans. b
T4, Who among the followmg has been the
Captain of the Indian team i Cricket Test
B fatches for the maximum number of limes?
# Sunil Gavaskar
b. Mansur Au Khan Pataudi
¢, Saurav Ganguly
i. Mohammad Azharuddin
Ans, ©
80.  Who among the following wrote the poem,
Sublee Acadi?
a Salur Ludhiyanv
b. Farz Ahmed Fai
¢.  Mithammad Tghal
d. Maukma Abul Kalam Azad

Ans b

8L How can the height of a person who s six foct
ll be cxpressed (approximalely) in
nanumetres?

a  183x 10° nanomelres
b 234 % 10° nanometres
¢ 183 x 107 nanometres
d. 234 % 107 nanomities
Ans ¢

82. A pemon issitting in a car which is ot rest. The
reachion from the road at each of the four
wheels of the car s B. When the car runs on o
stramght level road, how will the reaction
either of the front wheels vany?
a  [twill be greater than R
b 1L will be less than R

c. [twill be equal 0 R @
d. 1t shall depend on the malgg the
Ans, ¢

a3 With which one of the is the
Ombkareshwar Project mm@
a.  Chambal

H5 i the context of the Indin defence. whal s
‘Dhruy™? _
& Aircrafi-carrying warship

Bul'13

b, Missile-camrying submanne
¢ Advanced light helicopter
d. Intercontinental ballistic missile
A e

86 ‘Hand-in-Hand 20077, a joml anli-terronsm
military training was held by the officers of
the Indian Army and officess of Amwv of
which one of the following counlries?
w. Chmna
b. lapan
c. Russia
d. USA
Ans. a

Directions:
Each of the following four

correct explanation of A

A and R are individually true but
R is not the comreet explanation of A
Als true but B = false

&[ A s false bol B s lrue
A Assertion (AY In human body, liver has an

mporiant role wn fat dhgestion,
Reagon (R): Liver produces two smportant fat-
digesting enrvines.
Ans, ¢

88 Assertion (A} light s more encrgetic than
green m the visible spectrum of hght, red bight.
Reason (R); The wavelength of red light is
more an that ol green light.
Ans, d

89, Assertion {A);
magnetic Geld,
Reasom (R): Radio waves are clectromagnetic
in nature,
Ans. d

on. Assertion (A): The Congress Ministrics in all
the provinces resigned in the year 1939,
Reason (R); The Congress did not aceept the
decivion of the Vieeray to declare war against
Genmany in the conlext of the Second World
Wair.
Ans a

91. Starting with the Australian Open Lawn
Tennis  Towmament. which one of the
following is the comrect chronological order of
the other ihree maor Lawn  Tennis
Tourmnaments?
a. French Open—LU$ Open— Wimbledon
b, French Open— Wimbledon— 175 Cipen
e Wimbledon—US Open— French Open
d. Wimbledon French Open- L'S Open

Radin waves bend in 4




Ans. b
In which one of the followmg & Mal
located?

i Baltic Sea

b. Mediterranean Sea

¢ Black Sea

d. North Sea

Ans. b

ISRO successfolly conducied a rockel test
using cryogenic engines in the year 2007
Where s the test- stand used for the purpose.
located?

a. Balasore

b, Thivananthapuram

¢. Mahendragin

d. Karwar

Ans. ¢

Match List-l with List-11 and select the comrect
answer using the code given below the Lists
Last-T

{Service/Agency)

A. Foreign Intelligence Servics

B Ministry of State Security

C. Secret Intelligence Service

D, The Mossad
List-11

(Couniry)

1. lsmael

2. Dritain

3. China

4 Russia

Code:

a A4 BLC2LD3
b. A2, B3, (4. DI
c A4 R I
d. AZLBLC4 D3

b. 6.45-63.5

& Ta5-T45

d. 825-835

Ans ¢

Whe among the following have held the office
of the Viee-President of Tndia?

. Mohammad Hidayatullah

1 Fakbruddin Au Ahmed

oL

=3

13

9ol
3, Neelam Sangiva Reddy
4. Shankar Dayal Sharma
Select the comrect apswer using the code given
below
Conde:
a 1. 23mmdd
b. 1and 4 only
¢. 2and 3 only
d. 3and 4 only

it wis made a separate State in the
#,  Guntur

b, Kumool
¢ Nellore

d. Warangal
Ans. b
Which one of the g i correel in

I'ou*zll team’s performance

tered only up to the Quarter Finals
entered the Semi Finals

Tn which ong of the followng States are
Namchik-Namphuk Coalfields located?
a.  Arunachal Pradesh

Aps d

Momman Emest Borlang who s regarded as the

father of the Green Revolution i India 15 from

which country”!

n.  United Statey of America

b Mexico

c. Ausiralia

d. New Zealand

Ans a

Yom Kippor War was foughl between which

mifes/countries?

. Torkey and Groece

b, Serbs and Croms

c. lsracl and Amab countries led by Egypt
and Syra

d. lran and lrag

Ans, ©

Consider the following  stalements  about

probiotic feod:

1. Probwone food contains Tive bactera which
are considered benelicial to humans,

2. Probotie food helps in mamiammg gut
Nora;

Which ol the stnlemenls given ahove isdarc

wmmeet”




1,

105

108,

a | only

b. 2 omly

c. Both 1and 2

d. Meither 1 nor 2

Ans ¢

Consider the followma statemenis:

1. The albedo of an object delermines ils
visiial  brighiness  when  viewed  willy
reflected fight.

2 The albodo of Mercury 15 much greater
than the albedo of th Earth.

Which of the statements given sbove is'are

correct?

a | only

b 2omly

. Boh1and2

d. Neither 1 nor 2

Ans. ¢

Mach List-] with List-1T and select the corect

answer using the code given below the Tasts

Last-

iPerson)

A, Nagender Singh

B A N Ray

C. R K Tnved:

0. Ashok Desai

Tast-11

{ Positsom)

L. Chief Election Commssioner of Tndia

2. President, Intermational Court of Justice

3. (Cluef Justice of India

4. Attomey General of India

Code:

a ALB4.C2 D3

h A2 B CLDY

£ ALBCLD4

d. AZ,B4,C1 D03

Ans. b

Which one of the - I‘l‘lﬂ an inseclivirois

b. Russell’s viper

c. Rattlesnake

d. King cobra

Ans. d

In which one of the following Kinds of
organtsms s the phenomenon found whercin
the Fermale kills the male aller copulation?

a. Dragontly
b TToneybee

109,

1.

1L

113

Tid

0wr13
e Sprler
d. Pitviper
Ans
How many High Counts in India have
Jurisdiction over more than one State (Union
Termtories not meluded)?
.. 2

&0 oo
e e

iuu. b
Which one amongst the fol the
largest livestock population 1

u. Branl

b, China

¢ India
d. USA
Ans. ©
Consider

1. Sal- ohile 18 found m the
gl icobar Islands.
2 pir are found in the Westem
the Malabur region.
the statements given above isare
only
b. 2only
c. Both 1 and 2
d. WNeither 1 nor X
Ans d

Consider the following pams:

Tributary River Main River

1. Chambal : Marnauda

2. Soneg: Yamuna

3. Manas : Brahmaputra

Which of the pairs given abive is/are comectly
matched?

A 1. 2and 3

b. 1and 2only

¢ 2and 3 only

d. 3 only

Ans. d

Which of the following hills are found where
the Easten Ghats and the Weastern Ghats
meet?

n.  Anaumalai Hills

b, Cardamom Hills

¢ Nilgir Hills

d. Shevoroy Hills

Ans. ¢

Which one of the following is not essentially a
spoties of the Himalayan vegetation?

n. Juruper

b. Mahogany

e Silver fir

d. Spruce

Ans. b




115 What = the number of spokes m the
Dharmachakra m the National Flag of India’
a 6
b I8
e 22
. 24
Ans. d
Consader the Tollowing:
1. Rice lrelis
2. Coal mming
3. Domestic animals
4 Wellands
Which of the abive are sources of methane, a
major greenhouse gas?
w 1anddonly
b, 2and 3 only
c. L2and3 only
d. LZ3mdd
Anx d
117, From which one of the following did India buy
the Barak anti-missile defence systoms?
i lsrac]
b, France
c. Russia
d. USA
Ans w
Selene-1, the lunar orbiter mission belongs o
which one of the following?
a  China
b. European Union
c. Japan
d. TSA
Anx. ¢
119, Recently, the mammenpts of
followmg have been 4
UNESCOYs Memaory of
a  Abhidhamma Pitaka
b.  Mahabharata
¢. Ramavanp V'S
d. Rig-Vala
Ans.

116, 122,

123

124

s

125

mg statements:
15 awarded to a work of
iction in English by a woman.
Prize s awarded by the
‘ommonwealth Foundation to a citizen of
Commonwealth  country  for  any
hterary work in English,
Tuch of the stalements given above 15/are
comect?
| only
b. 2 only
¢ Heth 1 and 2
d. Nether 1 nor 2
Ans. a
In the senes
AABABCABRCDARCDE. ..

126

121, 127,

1wl 13
which  Jetter oceupics  the 100t

pesition”

What i the number of 1érms in the seres 117,
V20, 123, 126, .., 3331
a. 712
h 33
c. 76
d. 79
Ans. b
In how many different
B, " and ID be anan
vertical order such the
neEver m conlmuous -
a 9
b 12 ¢
e
A com omake o cham m & hiours,
B m T bhours and carpenter ' in 8
. If cach carpenter works for 8 houss per)
v. how many chais will be made in 21
days?
a bl
b, 67
g T3
d. 719
Ans o
A person purchascs 10X pens at a discount of
1% The net amount of money spent by the
person to purchase the pens 1s Rs 600 The
selling expenses incurred by the person are
15% om the net cost price. What should be the
selling price for 100 pens in onder to carn 4
profit of 2577
a. R 80250
h. Rs 81125
¢ Rs. B6250
d. Rs BTS
Ans, ¢
A schoolicacher has 1o select the maximum
possible pumber of different groupe of 3
students out of a tolal of 6 sindents, In how
many groups mny particular student will be
meluded?
w0
h. 8
e 10
g 12
Al ©
In an <xamination, 70% of the students passed
in the Paper L, and 60% of the students passed
in the Paper I 15% of the students fmled m

hooks A,
another ina
ks A and B are




129.

130,

(K18

both the papers while 270 students passad m

both the papers. What 1s the total number of 4

students?

w600

b. 380

¢ 560

d. 340

Ans. i

What is Bisphenol A (BPA)?

a. A medical test for detecting cancer

b. A test for testing he wse of drugs 1o
improve performance by alhletes

¢ A chemical wsed for the development ol
tood-packaging matenals

i A speeial type alloy steel

Ans.

Which of the followmg pairs about India’s

economic mdicator and agricultural production

(all in rounded fgures) arc correctly matched?

1. GDP per capita (current prices); Rs 37.000

2. Riee: 150 mallion tons

3. Wheat : 75 million tons

Select the correct answer using the eode given

below

Codes;

a. 1. 2and3

b | and 2 only

e 2and 3 omly

d. 1and3 only

Ans d

March 1, 2008 was Satwglay. Which :

it on March 1, 20027

#  Thursday

b. Friday

e Saturday

o

Ans b

In August 2006, (i ent of India
as; ion Policy, Ths

of access to all

India’s National Population Policy.
. by which one of the following years is it
our long=lerm objective o achiove population
stabilization?

a M25

b 2035

e 45

d. 2035

Ans, ©

133,

134

137,

138

12013
Which one of the [wllowmg Tnion
Ministries 15 implementing the Biodiesel
Mission (as Nogdal Minustry )?
n. Ministry of Aericulture
b, Ministry of Seieoce and Technology
¢ Mmistry of New and Renewable Energy
d. Mimstry of Rural Development
Ans d
Consider the following statements  wilh
reference 1o Indira Gandhi National
HPension Scheme (IGNOAPS)
L Al persons ol 60y
belongng o the house
poverty Ime in rural aregh
2. 'The Central Assistane

s at the rate o 3 month per
beneficiary, L Scheme. Stales
hive been give matchmg
amoum
Which of, ts given above inare
commeed]

t is the name of the scheme which
provides traiming and skills le women m
traditional and non-traditional trades?

#.  Kishors Shakt Yoma

b, Rashtriva Mahila Kosh

o Swavamsiddha

d.  Swawlamban

Ans, ©

Which one of the following is the cormect
seyuence i respect of the Roman numerals -
€, DL L and M7

A C=DrL=M

b M=L>=DrC

6 M-D=0C=T

d Lc=D>M

Ans ¢

Who ameng the following scientists shared the
Nobel Prize i Physics with his son?

a. Max Planck

b, Adbert Emstein

¢, Willuam Heonry Bragg

d. Enrco Fermi

Ans, ¢

Who among the following translated the
Autobiography of Madam Curie in Hindi?

u.  Atal Bihani Vagpayee

b. Lal Bahadur Shastr

¢, Choudhary Charan Smgh

d, Gobind Vallabh Pant

Ans. b




135,

140

141,

142

143,

144,

Among the lollowing, which one has the 145
minimum population on the basis of data of
Census of India, 20017

a.  Chandigarh

b. Mizoram

¢ Puducherry

d.  Sikkim

Ans.d

Consader the Iollowing statements in respect

of a jet engne and a rocket:

L A jet engme uses the surrounding air for
it oxygen supply and so i unsuitable for
motion in space,

2. Avocket carnes 1is own supply of oxygen
in the gas form. and fuel.

Which of the statements given above isare

correst? 147,

a | only

b. 2only

¢: Both1and2

il Neuther 1nor2

Ans a .

Which one of the followmg laser types is used

in a laser printer?

a  Dye laser

b. Gas laser

¢ Semiconductor laser

i, Excimer laser

Anx a

Consider the following statements:

L A widely wsed musical scale 149,
diatomic scale has seven frequenc

2 The frequency of the note

[z and that of NT (1) 5
Which of the stalements
comreet’!
a1 only
b, 2only
c. Both | an ¢
d. Nei In

146

145,

I TS

150

and  Sapphues  chemically

Which one of the followmg s also called
Stranger Gras?

& Argen

b. Neon

¢ Xenon

d.  Nitrous oxide

Ans, ©

130013
Mixtore of which one of the
following pairs of pases s (he cause of
occurrence of most of the explosions m mmes?
u. Hydrogen and oxveen
b, Oxygen and scetylene
¢ Methang and mr
d. Carbon dioside and methane

Ans ©
Which one of the following pairs of metals
comstitutes the lightest metal and the et

maetal. respectvely”
. Lithium and mercury
b,  Lithium and osminm

e Alomanum and osma
d.  Alwmnivm and m
Ans. b

How msch s one.

offhil approsamately

2 the following Gandhian [ollowers
zacher by profession?

N, Sinha

b. Braj Kishore Prasad

c ). B Knplam

d. Rajendra Prasad

Ans ¢

Which one of the following was a journal
brought out by Abul Kalam Azad?

a.  Al-Hilal

b, Comuade

e The Indian Sociologist

d.  Zamindar

Ans a

Where was the First Session of the Indian
National Congress held m December 18857

a. Ahmadabad

b. Bombay

. Calcutta

i, Delhi

Ans. b




